
Consider Simple Seesaw.
If Lin is increased:

A. Max Load is increased and Vout is increased.

B. Max Load is increased and Vout is decreased.

C. Max Load is decreased and Vout is increased.

D. Max Load is decreased and Vout is decreased.

 







 



The Tradeoff Between Force and Speed Can Be 
Interpreted in Terms of Energy Conservation: 

Consider  a Short Duration DT



Dot product of Force and Distance indicates aligned vector directions.
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For a Short Duration DT



Energy Balance Approach

When appropriate the following assumptions can be made:
� Acceleration is low: DKE≈ 0
� Friction can be neglected: Frictional Losses ≈ 0

The geometric constraint for small rotation Dq of seesaw
� Dxin = Dq Lin and  Dxout = Dq Lout and è Dxin/Lin = Dxout/Lout

Energy Balance: Work in = Energy Out
� Fin Dxin = mgh = mg Dxout

Mechanical Advantage: mg/Fin = Dxin/Dxout = Lout/ Lin

Velocity : vout/vin = (Dxin/Dt)/(Dxout/Dt) = Lin/ Lout


